Math201.01, Quizzes #3 & 4, Term 172
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1. [7 points] Find the local maximum and minimum values and saddle
points of f(x,y) = y3 + 3x%y — 6x% — 6y? + 2.
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2. [5 points] Find the extreme values of fx;y) = 2x + 2y + z on the

sphere x2 + y% 4+ z2 = 9,
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3. [4 points] Let R =[0,4] x [0,2]. Estimate the double integral
JI, In(x + 2y) dA using double Riemann sums with m = 2 and n =

2 and taking as sample points the center of each sub-rectangle.
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4. [4 points] Evaluate | fﬁ\/x3 + 1 dx dy.
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Math201.02, Quizzes #3 & 4, Term 172

Name:

ID #:, Serial #:

1. [6 points] Find the local maximum and minimum values and saddle
points of f(x,y) = 2x% + y* + 4xy — 1.
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2. [6 points] Use Lagrange Multipliers to find the extreme values of
f(x,y) = y? — x? + x on the ellipse x? + 4y? = 4.
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3. [4 points] Find the average value of f(x,y) = ‘/1+1x—+y over the region

R =[0,2] x [0,1]. :
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4. [4 points] Evaluate ffR e*/Y dA, where R is the region bounded by

thecurvesy = x,y = 1,x = 0. SN 17
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Math201.04, Quizzes #3 & 4, Term 172

Name:

ID #: Serial #:

1. [6 points] Find the local maximum and minimum values and saddle
points of f(x,y) = x® — 12xy + 8y5.
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2. [6 points] Find the extreme values of f(x;y) = x + 2y + z subject to
the constraints x> + y> = 8and y + z = 2.
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3. [4 points] Set up an integral for the volume of the solid that lies below
the graph of z = x% + 2y? + 3 and above the region R bounded by
the curves y = x% and y = 2 — x. Do not evaluate the integral.

X h(.q)) z X‘L“'ljl*} q\

o " ofs - Infersechn
K =2=%
P XL-*'X =t 8
.‘ e ( 1 (K—” zo |
V.2 Sf Fxu) d A (L*M :tiir’”' O
R a-x Tupe 1
T 2 y<
‘ (Frzutys) dy dx (23 et v o 2-X
= _K a +3) s T-rl + @2 x = j i
o X?- -2<£ X é‘l
. Soe%/3 ..
4. [4 points] Evaluate [, fo/ sin(y?) dy dx. i
Feafql)m.

. Not @asy R mescste . So Reverse Ma order = 17

R: ocyeXl, eexstd (TopeT)

> 75' tm
3 X \ 3 g @
J J Sm(a) dy d= = j S Su(y) 9% 9%
o o o 3j . oS & ;
\ ¢
it x239
Jl s ) (3-39) " =
-2 { '
J 3 smig) dy -3 JTJ Sog &

l _—

I { W 3 .
f35“"l31} Aj +_2.5: C"ﬂbl)l :dfasn%}dj f—:(dﬁl I)

J.)'/

o



